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    Section 1



   100 - (____ x 5) = _______
Name: _____________________   Time- 13 minutes (70 minutes on the real test)                         #                 grade
Period: ______


        Questions- 11 (60 on the real test)


wrong
Directions: Each question is worth 5 points.  Each of the questions or incomplete statements below is followed by five suggested answers or completions.  Select the one that is best in each case and bubble in the letter.

[image: image1.png]51. A firm is producing 100 units of output at a total
cost of $400. The firm’s average variable cost is
$3 per unit. What is the firm’s total fixed cost?

(A)  $1
(B) $50
() $100
(D) $300
(E) $400




[image: image2.png]9. Suppose that price in a perfectly competitive
industry decreases and it is now below minimum
average total cost but remains above minimum
average variable cost. Which of the following will
oceur in the short run?

(A) New firms will enter the industry.

(B) Firms will increase output so that marginal
revenue equals the new price.

(C) Firms will produce the output at which
average total cost s at a minimum.

(D) Firms will produce the output at which
marginal cost equals the new price.

(E) Firms will not produce at all, since they will
be unable to cover all their costs.




[image: image3.png]7. Which of the following must be true if a firm is
experiencing economies of scale?

(A) All costs are explicit.

(B) Long-run average total cost decreases as the
firm’s output increases.

(C) Economic profits decrease as the firm’s
output increases.

(D) Long-run average total cost remains constant
as the firm’s output decreases.

(E) Proportionate increases in inputs result in
Iess-than-proportionate increases in output.




[image: image4.png]6. If the output of a firm doubles when the firm
doubles all of its inputs, the firm must be
experiencing

(A) economies of scale

(B) increasing returns to scale
(C) constant returns to scale
(D) decreasing returns to scale
(E) diseconomies of scale
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. Assume that the corn market is initially in long-
run equilibrium at point R. What are the short-run
and long-run prices of comn if more corn is used as
a source of alternative energy?
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[image: image6.png]22. Shelby is an entrepreneur who has decided to
open a small advertising firm. She rents office
space at a cost of $25,000 per year, she has
employed an assistant at a salary of $30,000
per year, and she incurs annual utility and office
supply expenses of $20,000. Her best alternative
is to work elsewhere and to earn a salary of
$50,000 per year. How much annual revenue
must her firm receive so that Shelby earns zero
economic profit?

(A) $50,000
(B) $75,000
(C) $100,000
(D) $125,000
(E) $150,000




[image: image7.png]24. For a perfectly competitive firm producing the
profit-maximizing quantity, the average total cost
is $10 and the average variable cost is $8. If the
market price for its product is $10, which of the
following is true for the firm?

(A) Itis sustaining a loss and should shut down.

(B) Itis earning zero economic profit and will
remain in business.

(C) Tts accounting profits exceed implicit costs.

(D) It will temporarily shut down until price rises.

(E) Itis making an economic profit that will
attract other firms to the industry.
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57. If the monopolist is unregulated, its profit-
maximizing price and output level would lead
to a deadweight loss equal to area

(A) RUV
(B) RTV
(©) RTW
(D) TUV
(E) UVW
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32. In the figure above, at which of the given points is
demand most elastic?
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(D) The elasticity is the same for all points.

(E) The relative elasticity cannot be determined
with the given information.
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25. The profit-maximizing combination of output 26. If the monopolist could engage in perfect price
and price for a single-price monopoly is discrimination, the monopolist’s total output and
the price charged for the last unit of output sold
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